Phy 4A 11/21

Monday, November 21, 2016 9:59 AM

Goals for the Lecture:

1) Know how to calculate the angular momentum of objects moving in a

straight lines
2) Know how to calculate the angular momentum of rotating rigid objects
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Torque Example - 1

A 145 g meter stick is suspended at the 50 cm mark.
If 55 g are added at the 75 cm mark, how many grams should be added at the
25 cm mark to keep the system in equilibrium?

259 i L

1)
2) 55¢ 0 25 50 75 100
3) 75¢g '
4) 1459 ‘
5) 1485 g 79 ’7559—‘
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Torque Example - 2

A 145 g meter stick is suspended at the 50 cm mark.

If 25 g are added at the 90 cm mark, how many grams should be added at the

40 cm mark to keep the system in equilibrium?

1  25¢g
o
2) 409 25 50 75 100
3) 90g
4) 100 g
5) 1495 g 24 25
|6 l{o
&7 ——m>
T,
« 25
5 - x(©) - 25(40) = ©

Torque Example - 3

A 145 g meter stick is suspended at the 25 cm mark.

How many grams should be added at the zero cm mark to keep the system in

equilibrium?

1) 259 L

2) 55¢g o 25 50 75 100

3) 90g

4) 100g |

5) 145g  »g4

6) 1495 ¢g
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Torque Example - 4

A 145 g meter stick is suspended at the 5 cm mark.
If 5 g are added at the 75 cm mark, how many grams should be added at the
0.4 cm mark to keep the system in equilibrium?

1 25g |
2) 954 ) |
’ f 50 75 100

3) 90g I
4) 100g ‘
5) 145 g \’?—g‘ 5491
6) 1495¢
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